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1. You are provided with:
· A resistance wire mounted on millimeter scale
· Two dry cells in a cell holder
· A voltmeter
· Four connecting wires, one with a crocodile clip at one end
Proceed as follows:-
(a) Set up the circuit as in the figure below and determine the total electromotive force E, of the cells. [image: C:\Users\k.salat\Desktop\ppy\phy p 2_7.jpg]
Electromotive force E, of the cells ……………………….. Volts

(b) [bookmark: _GoBack]Set up the circuit shown in the figure below, connect the wire with clip on the mounted wire at a length (L) of 10cm from the end marked A. Record the voltmeter reading in the table provided in part (c) below:



[image: C:\Users\k.salat\Desktop\ppy\phy p 2_8.jpg]



(c) Repeat the procedure in (b) above for the following values of length L: 20cm, 30cm, 40cm, 50cm, and 60cm and complete the table below:  (5mks)
	L(cm)
	V(volts)
	E-V(volts)
	

	10
	
	
	

	20
	
	
	

	30
	
	
	

	40
	
	
	

	50
	
	
	

	60
	
	
	



(d) Plot a graph of   against L(cm. (5mks)
(e) Determine the slope of the graph. (3mks)




(f) Given the equation  = K1L1 + K2. Determine the values of K1 and K2. (3mks)





K1………………………………………..   K2…………………………………………..
(g) Given that 4K2r = 10 where r is the internal resistance of the cells. Determine the value of r. (3mks)







2. You are provided with the following apparatus. 
· A candle
· A lens holder
· A convex lens
· A screen
· A metre rule
· An object
Proceed as follows
Using an object at infinity outside the room, focus its image on the screen provided. The image should be as sharp as possible and inverted. Measure the distance from the lens to the screen hcm. Repeat the same for three other values of H. Record your results and then calculate the average value of the three results, Hcm.
First reading of h………………………………………………………………………….	(1mk)
Second reading of h ……………………………………………………………………	(1mk)
Third reading of h ……………………………………………………………………..	(1mk)
The average value of h(H) ……………………………………………………………..	(1mk)



Arrange the candle flame, the lens, and the screen as shown in the diagram below:
[image: C:\Users\k.salat\Desktop\ppy\phy p 2_9.jpg]
b) (i) For particular Value of u, adjust the position of the screen until a sharp image appears on the screen. Measure distance Vcm. Repeat the experiment for each of the other values of u, and enter the results in the table below:   (7mks)
	Distance L (cm)
	Distance V (cm)
	uv (cm2)
	U + v (cm)

	12
	
	
	

	15
	
	
	

	18
	
	
	

	21
	
	
	

	24
	
	
	

	27
	
	
	

	30
	
	
	


 
ii) Plot a graph of uv against u+u (5mks)
iii) From your graph, calculate the slope S.  (2mks)




iv) Calculate the value of k given that kH=S.  (2mks)
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2. (a) first reading of h = 10.0 4 1cm (1mk) 1 d.p ( AMUST)

| Second readfng of h=10.04 1cm 1 d.p (AMUST) (1mk)
3" reading of h = 10.0 + 1cm 1 d.p (AMUST)  (1mk)

‘ Average value of h (H)

H=10.0+10.0+10.0 (student’svalues)

3
H =10.0cm (1mk)
(b) (i)
1"Distance u(cm) Distance V (cm) | U+ v(cm) .
i 720 72

(% x 6 = 3mks)1 D.P correct multiplication 3 s.fr/t (lmks)  correct addition 1 mk

iv)
1Y)

i) s=1 P-2 L-1 A -1 (label + units)
(iii) S = 720 — 405 1mk
722-40.5 (1mk)

=315 =10 (1mk)

(7]

31.

(iv) KH=S
Kx10=10 (1mk) (use student’s values of K and H)

K=10=1 (1mk)
10 (1mk)
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Question 1

-Resistance wire- Nichrome G- 28
-Two new dry cells in a cell holder

-A voltmeter 0 =5V

- Four connecting wires one with a crocodile clip

Question 2

- Acandle

- Alensf=10cm

- A white screen
- vnitA metre rule
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Arrange the candle flame, the lens, and the screen as shown in the diagram below:
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(a) E=3.0£0.2 (1mk)

V(Volts) E-V (Volts)

1.3

1.70+ 0.2

1.1

1.90 0.2
1.0 o 2.0

'2.040.2
0.9 i 2.3

2.1+0.2

2.2+0.2 0.8 33

2.2 0.2 0.7 3 correct (1mk)

(3correct (1mk) All correct (2mks)

2.3+0.2

all correct (2mks)

!

(d) Scale = 1mk Line =1mk axes — 1mk plotting — 4-5pts = 2mks

© 3pts=1mk

(e)SlopeS=2.6-1.0
45-2.5
S=16

42.5 (1mk)

. 5=0.03763s.f(r/t)  (1mk)

(ff Ky =0.0376 (1mk) - his/her value of slope)
. Ky=0.9 (Imk — his/her value of y-intercept)

(8) 4x 0.9 x r = 10 (1mk — substitution)

r=2.78 Q(1mk (3 s.fr/t)-his/her correct answer) ’
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